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I Read the passage carefully and answer the questions
Tom was given the chore of whitewashing thirty yards of the fence on a Saturday
afternoon. The worse thing was that, it was one of those warm summer days when
everyone else was out playing ball or swimming. Poor Tom! He was all alone on the
sidewalk with a long-handled brush and a bucket.
He looked at the fence. It seemed enormous. He realised that it would take the entire day
to give it a single coat. Tom began to think of all the fun he had planned for the day.
Thinking of all the excitement, he felt miserable. Soon his friends would come down the
street, but he would not be able to play with them. They would tease him and laugh at
him. He had to do something to get out of this situation!
(A) He had to do something to get out of this situation because..... (¥2)

(i) He did not want to whitewash the fence.

(i) He wanted to play with his friends.

(ii) He felt miserable.

(iv) All the above.

(B) ‘That Saturday afternoon was worse for Tom.” Why could he not go out to play? (1)

(C) What did he realise, looking at the fence? (1)

(D) Find words which mean the same from the passage. (Y2 x3 =1 %)
(i) huge- (ii) sad- (iii) to make fun of-

II. Read the poem and tick the right answer from the given options. (72x6=3)

IF I COULD BE AN ASTRONAUT
If I could be an astronaut,
I would like to go,
To a planet full of colours,
With flowers on the snow,
[ wouldn’t go to Venus,
[ wouldn’t go to Mars.

I'd find a kind of special place,
Somewhere in the stars,
A place where fish have feathers,
A place where bees can walk,
That’s where I'll land my spaceship,
And take a weightless walk.

A) The poet’s special place would be...

(i) on Venus (ii) on spaceship (iii) on Mars (iv) in the stars

B) An Astronaut is a person who goes to...
(i) Mars (ii) Venus (iii) space (iv)a special place

C) The word ‘flowers’is ......
(i) an adjective (ii) a noun (iii) a proper noun (iv) a verb

D) Opposite of ‘common’in the poem is...
(i) full (ii) special (iii) kind (iv) feathers



E) IfI could be an Astronaut’ means...
(i) The poet is an Astronaut (ii) The poet wishes to be an Astronaut
(iii) The poet is jealous of Astronaut (iv) The poet wants to land on Moon

F) The correct option for A-B-C order would be....
(i) spaceship, stars, special, space, snow
(ii) snow, space, spaceship, special, stars
(iii) stars, snow, spaceship, space, special
(iv) spaceship, space, snow, stars, special

III. Complete this letter of invitation choosing the phrases from the
brackets (72x 8 =4)
( Tailing the donkey, 23rd December, children’s, Please come, great fun, Pinky,
6.00 p.m., a huge cake)

Dear Pooja,

We are having a party to celebrate Christmas. We will have . We plan to
play games like and Musical Chairs. We will cut and enjoy. to my
house on at

Your dear friend,

IV. Look at the pictures and write a paragraph in about 8 to 10 lines with the

given hints (3%2)

Jack and Ann—twins—got Pogo, the robot--- birthday gift--children fond of him- played
with him—one day—mother fell sick—children sad—slept crying---morning heard
sound—went down—surprised—breakfast ready—house cleaned—went to kitchen—saw
Pogo—doing all household work—they

danced with joy—gave him a hug—mother too kissed him—

V. Choose words from the box to complete the paragraph (Y2x 6 =3)
guitar  year boat Andamans ring honey

One day an Owl and a Pussy-Cat went sailing in a . They took with them a pot of
and plenty of money. The Owl sang a beautiful song on his for the Pussy-

Cat. Together they went and bought a After a they got married and travelled

to the .

VI. Circle the right word to complete the sentences. (Y2x4=2)

Riaz and Victor (is, are ) sportsmen. They ( eat, eats ) lots of cereal and

grains. It (gives, give) them energy. They ( keeps, keep ) themselves active all

through the day.

VII. Write meaningful sentences. (1x2=2)
1. gathered / a / quickly yesterday / large / crowd
2. walked slowly / the park / lazy /to / boy / the



VII. Read the given extracts and tick the right answer (2x2=1)
1. ‘I listened, I opened,

I looked to left and right....
(@) Who is the speaker ?

i) someone ii) a man iii) the poet iv) an insect
(b) The speaker opened the door because..
(i) he heard a sound (ii) the busy beetle tapped
(iii) the cricket whistled (iv) he heard someone knocking
2. ‘But he had no other choice than to wait under a banyan tree.’ (Y2x 3 = 17%2)
(@) Who is ‘he’ in this sentence?
(i) the landlord (ii) Buntu (iii) the farmer (iv) Rajul Shah

(b) For whom was he waiting?
(i) Buntu (ii) Shah (iii) the farmer (iv) the landlord

(c) Why did he have to wait?
(i) because the person was busy resolving a dispute.
(ii) because the person was busy.
(iii) because the person was fighting with the people.
(iv) because the person did not want to come early.

VIII. Answer the following. (2x3 =6)

1. ‘Buntu was lying under asleep under a tree and enjoying the cool breeze’. Why?
2. What did the farmers pack for the landlord?
3. The beetle was very busy in the night’. Why?
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I. Answer the following.
1. Define habitat. (1)
2. What do you observe when a bread slice is kept in a moist place

for a few days? (1)
3. Name the green colouring substance present in the leaves. (1)
4. What are the tiny openings on the underside of a leaf called? (1)
5. List the ways by which a plant uses the prepared food. (2)
6. Differentiate between deciduous and evergreen trees. (2)
7. Where do mangrove trees grow? How do they survive in their habitat? (2)
8. Why do some plants trap and eat insects? Give two examples. (2)
9. What are conifers? Give two examples. (2)
10. What are the three types of aquatic plants? Give an example for each (3)
11. Name and explain the process by which plants prepare food. (3)
12. Draw and label the parts of a leaf. (3)

13. What is the natural habitat of a Lotus? How does it survive in its habitat? (3)
14. With the help of a diagram describe how the cactus survives in a desert? (4)
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